Performing a t-test using Open Office


1. Click the cell where you want the data to go

2. Hit fx

3. Find TTEST and click Next

4. There will be a button next to Array 1 called “Select”

5. Click this button and highlight all the values for group 1

6. Click Maximize

7. Repeat for Array 2 using group 2’s information

8. Our Mode is always 2 because we want to see both “tails” of our bell curve

9. Our type is always 3 because our data is unpaired

[image: image1.png]Type (required)
The type of the T test.

Formula

3 | 1650 Statistical -
3| 1550 5
37| 1670 Eunction
19.40 RANK S
3| 1680 RSQ
17.80 skew
4| 1640 |SLOPE
9| 112 [SMALL
o 5 STANDARDIZE
| 1814 rova
35| 1651
5] 1850 pkevd
STOEVPA
47| 1650 lsTevX
1778 7ot
s | 1778 e
1651 TRIMMEAN
51| 1575
52| 1178
5| 1778
5| 19.00
55| 17.00
5| 19.00
57| 1650 08 06
19.00 17 30
5| 18.00 07 06
98357 6
61 1726
& G
&
6t
&
(IR Sheett

18.50
18.00
17.50

16.50
19.00
18.00





